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1. Maximum shear stress is equal to
A]

[B]

the sum of the principal stresses

the difference of the principal
stresses

[C] ha‘lf of the difference of the
pPrincipal stresses

[D] half of the sum of the principal

stresses

[E] Unattempted

2. Principal planes are the planes on
which the resultant stress is

A] shear stress

B] normal stress

C] tangential stress
[D] None of the above
[E] Unattempted

Maximum bending moment occurs
[A] at a point where SF is either zero
or changes sign

[B]
[C]

at a point where SF is maximum

at a point where transverse
loading is zero

[D]
[E]

4. If for a certain portion of a beam,

at the centre of the beam span
Unattempted

bending moment is constant, then

the shear force in that section is
[B] maximum
[D] None of these

[A] minimum
[C] zero
[E] Unattempted

5. Shear stress on principal plane is
[B] minimum
[D) None of these

A] maximum
C] zero
[E] Unattempted

6. Euler’s formula for long column gives
[A) critical load [B] working load
[C] failure load [D] ultimate load
[E] Unattempted
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7. The maximum bending moment
caused by three equal loads (each =
W/3) symmetrically spaced apart at
equal intervals of L/3 on a simply
supported beam is

(where, L = span and W = total of the

loads)
WL SWL
A —
Al 5 Bl ¢
WL 3WL
C —
IC] —35 ] 5

[E] Unattempted

8. If principal stresses at a point in a
strained body are P, and P, (P, > P)),
then resultant stress on a plane
carrying maximum shear stress is

equal to
Al JJ%2+P§ [B] J}ff.-pzﬂ
© J“Z ;Pﬂz D J————-ﬁz ;’g

[E] Unattempted

9. If SFD is a parabolic curve between
two points, it indicates that between

the points, there is

[A] uniformly distributed load
[B] uniformly varying load
[C] point load

[D] None of the above

[E] Unattempted

The ratio of normal stress to
volumetric strain is defined as

10.

[A] Young’s modulus
(B] Bulk modulus

C] Rigidity modulus
D] Tangent modulus
E] Unattempted
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11. Abar L metre long and having

its ar . .
of tt:irnss-sectiﬂn A, is subjected ':3 11. 11?15 oe L |1 3 389% I FE Ay
gradually applied tensile load W, The ra-da it R A T TR W o
S_tram €nergy stored in the bar is oe 1§ gufed a9 a1l & Il 8
wikan W2L W2L
| Rl S
m BE o L " AR, T 2K
WL g € 5az @ D] & am |
€l 248 D] 2% [E] s '
[E] Unattempted - b
12. em—
12 b 1
: «—>
T d| |
?ﬁ,@_ d ' vl
o ! SR 3wt A 3 o g g ST
¥  Moment of inertia of rectangular Egﬂilﬁaﬁmﬂjf%
. section shown in the above Fig. about R _135'3 B] _{?__da_
FI its base is | [A] 3 12 -;_i
2 3 2 |
O (A R € - D) 2= |
h 3 12 3 12 4
- e bl T3~ 13. T% u4 fiex 32 it o & foq smews @il |
[E] Unattempted e R Lk N
13. For one cubic metre of brick masonry, {g ggg 0 ED]] 6330
the number of bricks required is IE: R
[A] 400 [B] S00 14. ﬁﬁ@@‘q’%ﬁ% 5 J{
[C] 5000 [D] 6000 i)
[E] Unattempted e P I = ‘%‘“"e‘;‘“ﬁ
14. Swelling of bricks is known as [C] =v [D]
[A] bloating [B] lamination [E] rfia |
[C] chuffs [D] efflorescence 15. ﬁmaﬁﬂiﬁgtﬂﬁz%ﬁﬂfﬂlﬁﬁmm%,
[E] Unattempted ' GIED
15. Gypsum is added to Portland cement [A] I8 AT T T T IEH R EH
during its manufacture so that it may B] afén ama = gm0
{g}] accel;r;fe the sett:;ng time (C] e &1 ATaH FH 5
retard the setting time e
[C] decrease the burning | D) e 6t e e R EH
temperature [E] AT
[D] facilitate grinding 16. Tz & goea 51 Tl e s 2 -
[E] Unattempted | A] W v A v R B AR
16. Soundness test of cement is done to & fom |
determine ilts : B] m%am@mnmﬁﬁﬂamﬁm |
[A] durability in sea water ] o . & wn Fafa 79 ,
[B] free lime content ¥ fm SRS
[C] iron oxide content
[D] alumina content [D] 8% TR H A fuffa A & ;
[E] Unattempted [E] 3rwamfa ;
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17. Bloating of bricks is due to

[A] the presence of

excess
carbonaceous matter

(Bl

the presence of any gas forming
material in clay

[C] bad burning or rapid firing
[D] All of the above
[E] Unattempted

18. After casting, an ordinary cement
concrete on drying.

[A] shrinks

[B] expands

[C] remains unchanged

[D] can expand or shrink

[E] Unattempted

The approximate ratio of strength uf

cement concrete at 3 months to that
at 28 days of curing is

19.

[A: 1-15 [B] 1-30
C] 1-0 [D] 0-75
E] Unattempted

20. Workability of concrete is inversely

proportional to

[A] water-cement ratio
B] size of aggregate
C] - time of transit

D] None of the above .
E] Unattempted

An air entraining agent, when added
to concrete, improves

21.

(A] strength  [B] ‘workability
[C] density [D] durability
[E Unattempted

22. Concrete gains strength due to

chemical action of cement with
coarse aggregate

B] hydration of cement
C] evaporation of water
D] Al of the above

E] Unattemptcd

[A]
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proportional to

A] water content in the mix
B] sand content

C] aggregate content

D] aggregate to cement ratio
[E] Unattempted

24. Gypsum is added into the raw

materials during manufacturing of
cement so that the final product

exhibits
[A] retarded initial setting time

[B] improved mouldability for
cornices etc.

[C] increased compressive strength
[D] augmented bond strength
[E] Unattempted

25. The correct proportion of ingredients

of concrete depends upon
[A] bulking of sand

B] water content

C] absorption

D] All of the above

[E] Unattempted

26. Shear force capacity of an RCC beam

is proportional to
A] overall depth
B] width

width depth

depth of steel from compression
fiber

[E] Unattempted

27} Radius of bend of a reinforcement bar

to form a hook should not be less than
[A] half the diameter of bar
[B] diameter of bar
[C] twice the diameter of bar
[D] four times the diameter of bar
[E] Unattempted
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28, Reinforcement bars are generally
bent

[A] by heating

[B] by welding

[C] manually using lever
[D] by dies and jigs

[E] Unattempted

29. The minimum size of main
reinforcement bars in RCC columns
is

[A] 8 mm
[C] 16 mm
[E] Unattempted

[B] 12 mm
[D] 20 mm

30. Minimum percentage of steel in RCC
slabs, if mild steel is used, is

[A] 0-12% [B] 0-15%
[C] 0-3% -[D] 0:35%
[E] Unattempted

31. Lug angle is |
[A] used with a single angle member
[B] used with a channel member

[C] not used with double angle
member

[D] All of the above
[E] Unattempted

32. A steel membei' which is subjected to
primary tension is called

[A] tie [B] tie of beam
[C] strut [D] sling
[E] Unattempted

Slenderness ratio of a steel member is

Length
[A] Minimum side dimension

33.

Effective length
[B] Radius of gyration

Effective len_gth
[C] Corresponding radius of gyration

Effective length
[D] Least radius of gyration

[E] Unattempted
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34. Which of the following is not a
compression member?

A
C]
E

Strut [B] Tie
Rafter [D] Boom
Unattempted

35. Equation continuity of fluids is
applicable only when the flow is

|A]
[C]
[E]

36.:11 In

steady [B] one dimensional

compressive [D] All of these
Unattempted

steady flow of a fluid, the

acceleration of any fluid part.lclf: is

A]
[C]
[E

constant [B] variable
Zero [D] never zero
Unattempted

37. A streamline is defined as the line

[A]

[B]
[C]

D]
[E]

parallel to central axis flow
parallel to outer surface of pipe
of equal velocity in a flow

along which the pressure drop is
uniform

Unattempted

38. Stream lines, streak lines and path
lines are all identical in the case of

[Al
[B
[C]
[D,
[E]

uniform flow
non-uniform flow
unsteady flow
steady flow
Unattempted

39. Equation of continuity results from
the principle of conservation of.
[A] energy
[B] flow
[C] mass
[D] momentum
[E] Unattempted

40. The critical hydraulic gradient of soil

is given by
G-1 G+1
[‘A] 1 + e IB] 1 + £
+1
C] f_ = [D] None of these
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E] Unattempted

34, Tl § & F1H-91, T Wis 958 73,

A] &2 [B] @S
[C] TR [D] ¥

35, e Yerdl 1 geter ol @r) g @, 54 Yo |
[A] Frfa & [B] T mrdt &
C] ifsad  [D] ¥ Awh

36. 7d % @ yarg #, frelt ¥fi 53 F91 i =
A] Rrdme  [B] whadda g R
C] W@awmt  [D] = = 7 dar
[E] 3mafa

37. HNeEA % U 9T & ®9 4 gitwiiya fen
™ 2
[A] 1@ v F wEEIER
[B] =l H ael wag F auEi
[C] va18 & 9= a1 &
D] ﬁm%mmﬁﬁmqmmam%
YT

38. W W@, &% a3k 13 tand ovft gum
Bt &

A] G YR % T ‘%‘E
B] h-wH v Fmmwy  E
C] IRRTEARF AN =
D] R yaTg & Al | l
E] i 3
39, fram i s dame - O
A] et % g % figia ‘f
B m%m%mﬁ A
C] F=WH % i & fagd a
D] dam % wem % g |
E] I
40. ﬁ@mﬁﬁmﬂﬁﬁﬁmﬁmm%
G+l
Al 17 e G m (B} l+em
O T w o) AW
E] amrrﬁm

4

(¥ scanned with OKEN Scanner



41. Head loss due to a sudden
enlargement in a pipe is given by

2 .2 2
vi — V3 (v — V)
A
(vg - Vo) v —v3
B D
[C] g (D] g

[E] Unattempted

42. Bernoulli’s theorem deals with the
law of conservation of

A] mass

B] momentum

C] energy -
[D] None of the above
[E] Unattempted

43. Venturimeter is used to

[A] measure the velocity of a flowing
liquid

[B] measure the pressure of a flowing
liquid _ -

[C] measure the discharge of liquid
flowing through a pipe .

[D] measure the pressure difference
of liquid flowing between two
points in a pipeline

[E] Unattempted

44. Weed growth in a canal

[A] reduces silting

[B] increases contamination of water

[C] increases velocity of flow

[D] reduces discharge through canal
[E] Unattempted

45. Depth of water required to bring the
soil moisture content of a soil up to its
field capacity is called

[A] hygroscopic water

[B] soil moisture deficiency

[C] pellicular water

[D] None of the above

[E] Unattempted

46. Surface run offis the quantity of water

A) that reaches the stream channels

B] absorbed by soil

C] required = to’
depressions

(D] All of the above

[E] Unattempted
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47. Relation between the duty D in |

hectares/cumec, depth of water A in
meters and base period B in days is

given by
[A} A=864B/D [B] A=864D/B
[C] A=864 B

[D] None of these
[E] Unattempted :

48. Minimum width of the pavement on a

National Highway should be
[A] 47m [B] 5*7m
[C] 6:7m D] 77 m

[E] Unattempted

49. Bottommost layer of a pavement is
called

[A] sub-grade

[B] base course

[C] sub-base course
[D] wearing course
[E] Unattempted

50. Binder for pavement

construction is
A] bitumen
C] lime

E] Unattempted

flexible

[B] cl-ﬁy
[D] cement

51. Number of links in a 30 m metric

chain is

[A] 100 [B] 150

[C] 180 [D] 200

[E] Unattempted I

.52. In compass surveying

[A] the direction and length of

survey line are measured by
compass

[B] the direction is measured by
compass

[C] the length is measured b '
oo y chain

[D] Both [B]and [C] |
[E] Unattempted |
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A] quadrantal system
[B] whole circle gystan
'.* C] reduced bearing systerm
D] None of the above
[E] Unattempted

s e e tic bearin
1S 350:': is nw
A] 10°E [B] ;guw
(] 80°E [D] |

56. A level line is @ |
[A] line parallel to the mean

? spheroidal surface of earth | :
[B] line normal to the plumb line at
all points
[C] horizontal line
- [D]. Both [A] and [B]
[E] Unattempted

57. Contour interval is proportional

A] directly to the scale of map

[B] inversely to the scale of map

C] directly to the flatness of the
ground B

[D] None of the above I

[E] Unattempted

58. Cross hairs in surveying telescope are
fitted

A] at the centre of telescope

B] in the objective glass |

C] in front of eyepiece

D] anywhere between objective and
eyepiece _

[E] Unattempted
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59. In chain surveying, the lateral
measurements that are taken from the
chainage to the objects, are called

A] backsights [B] check lengths
C] offsets [D] laterals
[E] Unattempted

60. A clinometer is used for

[A] measuring angle of slopes

[B] correcting lines of collimation
[C] setting out right angle

[D] defining natural features

[E] Unattempted

61. The correction for slope in chaining is

proportional to
Al Vh [B] h
[C] K2 D] K3

[E] Unattempted

62. A line joining some fixed points on
the main survey lines is called

[A] check line [B] tie line
[C] chain line [D] base line
[E] Unattempted

63. In the quadrantal bearing system, a

whole circle bearing of 293°30 can
be expressed as

A] N23°30'wW
C] N 66°30'W
E|] Unattempted

[B] W23°30'N
[D] S113°30'N

by volume?

[A] Trap [B] Slate

[C] Quartzite ID] Limestone

[E] Unattempteq '
65. The tem

[A] 500 - 1000 °C [B) 190
[C] 1300- 1500 °C |
[E] Unattempted

- 1200 °c
11600 - 2000 o

66. Keene’s cement is made from
A] gypsum

_ [B] slag
E] Unattempteq
70/G-1-A
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[n SUIveying, the line passing through
ero’ declination is known as the

Al isogonic line [B] agonic line

~1 contour line [D] None of these
(E] Unattempted

when the anchor point is inside the

area of the zero circle is
[B] subtracted
[D] divided

figure, the
A] added
c] multiplied

El Unattempted

when the tracing point is moved .

along a circle without rotation of the
wheel, then the circle is known as

[A] zero circle [B] ortho circle

[C] circumcircle [D] None of these
[E] Unattempted

The relation between the radius (R)
and degree (D) of a curve is

D 1719
— R:
Al R=1779 B D
R '
—=1719 D=2R
Cl & - =1

[E] Unattempted

. ' E 3 -,
Ramesh bad X 320. He spent 2 of it to
buy an article. Of the rt:mainder, he

used % of it to buy another article.

How much money is left?
[A] Z70 [B] X100
C] 2120 D] 290
[E] Unattempted |

Name the Indo-Greek King of Bactra
who reigned between 190 BC and
180 BC, was first in the ancient worlld
to issue copper-nickel (75 :25) rat;ﬂ
coins, an alloy technology known DY
8 Phileae [B]- Demetrius

A] Philoxenus

}C{ Agathocles [D] Noné of them
[E] Unattempted

Two trains are running at 30 @ Tﬁi
58 km per hour respectively in rain
same direction. Man in the slowe;n -
passes the faster train in 18, i: oin?
What is the length of the fastc?

[A] 135m B] 140m

IC] 150 m [p] 120 ™

[E] Unattempted

7 1} 3T e v

S - B T

[E] nrnfi T
68. W9 T firg MR ¥ 3

mmmaq?ﬁ R, D v

[A] wferm [B] wewn gan

Cl TR (D]

[E] 3Irnf

69. Wa‘ﬂ*@“ﬁﬁﬁ, WﬁmﬁW,E@
*WWW‘B,?ﬁaﬁaﬁmmg
A|TIIAHFFIH  [B] gl 90 F &9 3

[Claga % &8 D)3 A ¢ T

 [E] IoERE

70. T 9% % foft (D) w@ Bsw (R) s daaau R
A R=zps B R="p-
0 51719 Pl p=28

1. 3 T T 320 & I @ g Tl % forg
o 4 % TR AT @

| B

tud vIAlER 704

[C] X120

E swRa
72.-%@n$m§§l—;ﬂ$wwmmﬁﬁ
190%91{&3ﬂusos‘ms‘%sﬁﬂwm
oy, W W gﬁmﬁ diar-fea (75:29)
l‘h mgqm%{%ﬁmﬂa?@mﬁﬂ'ﬁﬂﬂﬁﬁ%ﬁ

v

il ﬂ:ﬁmmqa;ﬁmrrgﬁm%{
1] R [B) R P
0 ' wmww, [Pl AR
L
[E] Jafd
73, @ Rm A AT T soﬁfﬂ@;;:‘:
R i
é"iﬁé aazaahmmﬁmﬂm%‘-
 iard fraedt &7 |
A 135 M lzgj
(€] 1507 ¥
[E] I ]P-T-O

(% Scanned with OKEN Scanner



74, icle ;
:n]]mde' IS sold at 10% loss. If the
€ling price is 40 more, there will

be & gain of 15%. What is the cost
Price of the article?

Al ¥ 150 [B] 170
[C] 160 [D] T 180
[E] Unattempted

75. Which Ramsar Site is situated at the
connection of two lakes?

A] Lonar Lake (Maharashtra)

B] Pong Dam (Himachal Pradesh)

C] Tso Kar Wetland Complex (Ladakh)

D] Rio Negro (Brazil)

E| Unattempted

76. On January, 28th, 2024 signed
a Memorandum of Understanding
(MoU) with the Union Ministry of Jal
Shakti to implement the Modified
Parbati-Kalisindh-Chambal-ERCP
(Modified PKC-ERCP) Link Project.

[A] Uttar Pradesh and Punjab

[B] Rajasthan and Madhya Pradesh
[C] Haryana and Punjab

[D] None of the above

[E] Unattempted

77. Sardar Sarovar Dam is built on which
river?

[A] Sutlej [B] Narmada
[C] Yamuna [D] Bhagirathi
[E] Unattempted

78. Rahim is younger than Santu but
older than Ramu. Ramu is older than
Gargi. Sima is older than Ramu but
younger than Rahim. Who is the
youngest among them?

[A] Ramu [B] Sima

[C] Santu [D] Gargi

[E] Unattempted

79. Inarow of girls, Chitra is 10th from the

left and Beenita is 7th from the right. If
they interchange their positions, then
Chitra becomes 15th from the left. How
many girls are there in the row?

[A] 21 [B] 23
[C] 20 [D] None of these
[E] Unattempted

80. Peeling of onion causes tears as
onions release
[A] tartaric acid [B] sulfenic acid
[C] ascorbic acid [D] None of these
[E] Unattempted

70/G-1-A

14

74. & 95 B lﬂ%wmﬁw'qﬁﬁm
7 T 40 3ifersh &, T TH 15% M|

WWWW%?

[A] T 150 [B] X170
[C] ¥ 160 [D] X 180
[E] 3wt

75. FH-T1 THER T Q Hell 5 T T R 2,
[A] @R 3iE (FRRSE)

(B] dm =iy (fearEe o)

[C] 6 FR IS Firiad (FETE)

(D] et 3 (simsiter)
[E] s | |

76. 28 S, 2024 F 7 GRE g
Frefifag-daad-Id TEIH T iy
(Modified PKC-ERCP), foi% uftem 3

anEiaT 79 9T gEarer o ;
A] I T TH G '%E
B] TSRYA T 7Y W2W B
C] R @ 99 v
D] 39w # A HI§ 7 |
E] 3w O
77. SR FUSR 979 Fg 76 T =4mn w2 IE]
A] Hags [B] e it
C] Ig [D] wrficeh b
E] 3w a

78. WM, ¥ B ] A WA w1 21 1,
q 921 21 Himn, T A 99 2 A W Ao
21 T A 9= B I 7 ;

Al T [B] d
Cl &q [D] i
E] 3vnfya

79. wginal it v e A, R 91 A 2vd WA

2 3R ffran 2 @ o R w21 9R A

WM 9¢A A &, 9 o wrff 3tk @ eedl @
St 21 9f 3 forerft wefmal €7
[A] .21 [B] 23
IC] 20 [D] s @ § T
[E] TR

80. W #l BT ¥ g Freen § ifs 9N
P 2

[A] TWRETie  [B] wiE qRiE
IC] Geitss Tfyg (D] i @ =1 T
[E] 3mwaiia
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g1. fre dEm H T4 IF WS T A n frn

g 8l . n; of itself, gives the value equal to | STl 8, @ IEHI AM 1445 F Tumn B R
tlﬂ5 Find the number. I &1 HA1d Hifl
| T [B] 15 | A] 17 =] 49
g} 18 [D] None of these | C] 18 [D] = |+ ==
E Unattempted (£}
ich of the following schemes has g2, Sl qEan H TG 2 & forg, PefeRea @ w
82- W: been introduced to promote A A T T B 27
:nergy efficiency? A] PM-KUSUM (B] UJALA
A] PM-KUSUM  [B] UJALA (C] PMUY (D] SAUBHAGYA
5 PMUY (D] SAUBHAGYA % E
ted :
B [E UnattempP . . e st o 45 PR 21 AR AT
'_ 1 e average weight of A, B and Cis 83. A,BQ;;W40WW5@CH4S
83. T co. If the average weight of Aand B B I
g 45 %E hat of B and C be S 2, @ BT 2
be 40 kg and that : - 1 T
43 kg, then the weight of Bis | A] 48 e B] 3 o
(A] 48 kg [B] 31 kg ' [C] 52 femum [D] 60
(c] 52 kg D] 160758 | (E] TS
[E] Unattemptﬂd | a4 mmgﬁﬁ[mgﬁaﬂwmm%
The report of Public Accounts A v @
" Committee is presented in the | B 3 ega i
) Rele PR (c] frm Hea A
[B] President’s Office | e v 35 TR %
[ C: Finance Ministry E) '
: . he Minister’s Office AT :
[E. El:;lttempted g5. EREmN 1 HIA-Hl arfeard! FHH, ngm
> h tribal community of Haryana is m%ﬁqqﬁsﬁaﬂtmaﬂﬁﬁsm k5
85. Which tribal € : i he
A tEd With t _ < (| %?
traditionally associa : B
occupation of snake charming and A] ™ [B] J His Tl
fortune-telling? _ 8 c] @i D] ¥
A] Meo [B] ‘Ahir cihest E] I
| : eo - -
C] Sansi [D] Non 86. TR 1 P-4l Srefta, a9 Bg & A
E] Unattempted ; 1 e TR 3 T T S 27
: 0
86, Which folk song of Haryana is SUBE o A wm (B] @i 3
' celebrate the arrival of rainy scé D] ¥ | H13 el
Khoria [C] <X 4
[A] Phag [B] [y}
f these (E] 3
IC] Loor [D] None o o O anfassR [}
. [E] Unattempted t g7. <R % e W A ['_;
| , L
'_ 87. Who has invented the world s?ﬁrs ﬁ“ﬁﬁm% > £
programme-controlled computer [A] SH IS 25
|A] John Atanassoff (B] HAUS SH :
B] Konrad Zuse , - [C] HESRIER E'JEI
C] Harvard Mark I (D] wit§ deeid G
D] Sergei Sobolev [E] Fd p.T.O.
E] Unattempted -

'“f G-1.A 15

{
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88. Which of the following is not a software?

Al Compiler

B] Adobe

C] Microsoft Office

D] Drivers

E] Unattempted

89. Who is the author of the book Joothan :
A Dalit’s Life, which depicts the life of a
Dalit in Haryana?

A] Chetan Bhagat

B] Khushwant Singh

C] Omprakash Valmiki

D] Arundhati Roy

E] Unattempted

90. The ‘com’ indicates website of
type of organization.
[A] commerce [B] complex
[C] company [D] cargo
[E] Unattempted

91. The clipboard
[A] is a cache memory

[B] is a feature that stores user
information

[C] is used to temporarily store items
that has been cut or copied

[D] is a feature that saves file
temporarily

[E] Unattempted

92. Khajjiar Lake is located in
[A] Tamil Nadu
[B] Odisha

[C] Himachal Pradesh .

[D] West Bengal
[E] Unattempted

93. Which of the following particles is a
lepton?
[A] Electron
[C] m-meson

[B] Proton

[D] None of these |

[E] Unattempted

94. Intersection of a row and column in I
MS Excel is called

[A] Spreadsheet [B] Workbook
[C] Cell [D] Document
[E] Unattempted

70/G-1-A o

[B] Adobe
Ccl] Microsoft Office

D] Drivers

[C] Irearlt &9 & 35 WR FA = fore 3w
foma e 8, S e 41 it fome o §
[D] T ¥ giaar @ ) BrEe Y RA w9 Y

LS Gl
E] 3mamia .%E
02. @%ﬁmgﬂﬁaﬁ'@ﬁ[% oRdo|
[A] dfie g o
[B] 3fifswm #
[C] feraet wew #
D] ufvem sme |
[E] 1w
93. fmfafiaa ¥ @ F-m $u1, Awm 27
[A] %A [B] e
C] ¥ D] ¥ A B 7@
[E] S
94. MS Excel ¥ 9ft Ud ®iem &1 gfa=oe A
FEATAT B 7

P > &S00 0O 4

|A] Spreadsheet [B] Workbook
[C] Cell [D] Document
[E] 3rwmfda
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is the shortcut key to get Al

t
95. “;?Jiﬂ cell in MS Excel?
9 ] Ctrl+A [B] Ctl+Hame
{g] ctrl + C [D] None of these

E} Unattempted

: ion to get background
: ﬂ_uwncﬂlﬂur in MS PowerPoint?

A] Design > Background
B| Design > Themes

C: Insert > Colours

D] None of the above

[E] Unattempted

How do you view the document at
different percentages in PPT?
[ A] View menu

[B] Review menu

[C] Home menu

D] By using zoom slider

[E] Unattempted

Six persons are sitting in a circle. Pis
facing Q, Qis to the right of T and left
of R. Ris to the left of S. Uis to the right
of P. Now S exchanges the seat with U
and Twith Q. Who will be sitting to the

98.

left of S?
A] S B] T
[C] P [D] Q

E] Unattempted

99. The two kinds of main memory are
~[A] random and sequential
[B] ROM and RAM
[C] primary and secondary
[D] All of the above
[E] Unattempted

100. Consider the following statements :

. Quantum computer makes direct

use of superposition and
entanglement to perform
Operations on data.

Quantum computer can solve the

Pimbl‘ema much faster than any
Classical computer.

i\:’hmh of the statements given above
; /are Correct?

gl Both I and g
| Unattempteq

3 TGIG'I-A

I1.

[B] Only 11
[D] Neither I nor Il

5t

95. MS Excel § Al ufiry U

96.

.-

97.

Foll R B 7 R ieshe
[C] Ctrl+C [D] g;gnq;
[E] rwafe

MS PowerPoint % ¥5I138 Hi st
g m 27, o,

[A] Design > Background
[B] Design > Themes

[C] Insert> Colours

[D] 39w & & 9§ 78

[E] 5

PPT & geaisl 9 307 Rt sirera w32 3
[A] View menu

[B] Review menu

[C] Home menu

[D] Zoom slider SVWT ¥ -
[E] rvamfea

98. Bg ARG TH M A A Tl P H @ O 3k D,

100.

4
I
L]

O
)

17

I 3T BM?

99, A9 AN Q) YHR 6 Bt &

QT HTEININRFIIARRAR, SF

€ 3R U, P S o3 S, US T

IR T, Q% wr Tie wgwar 1 S F wnfi aiv.

[A] S
[C] P

[E] sty

B T sl G
D] © *

[A] Yem i diSRre . RS
[B] ROM 3iR RAM .
[C] WAl 3k dFsh '
[D] Swdw ot

[E] JvaRe

I i S 3 W G F@ F fe
goifiem IR SazmE w1 digr 39
Har gl

Faien S Tt it aenfima Fget 6
g T wga Oof A WAl B T W
ghar el

SR R e el § 3 -/ 7 /7
[A] Faal [B] S=all

[C] @Fi1skn [D] Ad@ RIS
[E] Irwaifa

I1.

=i

,Rmo.
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